o

=.0
o

=3 |

9

MoTa-X
(=R & 10 ok TaEnfer=n =% fao)

HTethen foretr sits, Trseen o feranieiat <k forg
Juid: TedH TIGIehHATTAR

o amre<. feram i, 2025 o U2sT-Usl oI 21311&%1\

e UIRAYZd<b & A3 313amA uesii o1 &t
o f21211 faamer, IroTZeIet S0 oIl U926l dab &

uesll T a1 Afed JAorder
e A3fl UPBIR B 3152 FTEcayguf uLsil o1 AdLn
L ® 1o ga 3r51a1dl derat w1 fatera p

2026
HAoifld udsI1oTel,

: ¥ 280/-
8 (= ) i




(if)

TR :
EEICRCINE
STAY-3

email : sanjeevprakashanjaipur@ gmail.com

website : www.sanjivprakashan.com

© WRTSTeRTENA

e : T 280.00

TSR ZEIdfeT
s Yk (D.T.P. Department), S

S ¢
g 31 fyed, SR

* % ok ok kK

*,
£

2
”n

®,
D3

9 5 | Ffedi S g H o AU g Hvya g8 foran T g | forelt oft Ffe o5 o ST o stegen fonedt oft
% o TS o TeTq <119 g F 11 R email 91 0 SoTeh? e 2 T §—

email : sanjeevprakashanjaipur@gmail.com
T JRIe formt

BEICREINE]
TT9h g1 1 T8 el & STl GEho 2 Sigad & Wehm |
Y &b H YeRIreTd foRelt Ffe o6 Ui e 89 EF arel! forlt oft &1fa o6 folu orereh, Jehieteh, Hueeh a9
Tgeh forelt oft &7 H QR &1 € |+ T fof 317 3o o1l AT gU &1 8 T BRI W € |
T YR o forarel o1 =nfaer & SR ST |




10.
I1.
12.
13.
14.

(iii)

forrr-h

STEdfaeh e

ST

=R A aew THE I

fgemd THIR L
=R gfeat
IERS]

[ [T

BERIERRIIE]

Trepafa w1 9=

Frerrothafa & F© ST
Chsl

<

gl 9 G SR
JEE 9% A STRAA
it

ElEEX]

ufifere-1 wiferdta Saufaat
fifere-2 Wit faget

1-12
13- 27
28- 56
57- 76
77-115
116-142

143 -169
170-201
202 -227
228 -247
248 -263
264 -287
288 -326
327 -348
349 -356

357-359



TfOTa & 10 1

HredHer U, 2025
T

(MATHEMATICS)
9T : 3 "que 15 fae quiieh : 80

et o forq wmr= fdor
General Instructions to the Examinees :
1. T e ST TRE-T9 R A ST ford |
aHt 7¥ g F S |
TR WA ST & S STR-qfkre 1 2 o |
57 9ol # etafier @us €, 39 94 & S T 91y g ford |
T-T7 % fat o STiSt TR H foRdt wohR ot Ffe/srayfatianma g m fe=t oo 6 e
g w4 |
Y o IR o | g g o A oTeand fad |
T SRR 14 ¥ 20 TR § STk fawed € |
8. oTU ST-Yfeeh & Y3l o Sl iR fofay | afs g Tk v & 71, o SR-gfeden & sifm
T8l WA 3R 3% TRt A 4 Few 31 W T wE faw 7
Qus-3A (SECTION-A)
U9 TS AfTeTe T U9 ¢
(Multiple Choice Questions and Very Short Answer Type Questions) :
1. T sigfaeredta w9 (i / xviii) & I &1 T fadheq 997 &7 IT-gfaat | fafaw)
(Choose the correct option to answer the following multiple choice questions (i to
xviii) and write in the answer-book.)

W bW

~N N

(1) 400 T STHH TUFGUS] i STdl I ATHA §— 1
(31) 4 ()9 (¥) 6 () 8

(i) 4fc 9gug 2x% + X + k 1 TH Y=F 3 ¥, @ k 1 AA g— 1
(s1) 12 (&) 21 (w) 21 () 12

(iil) T I 3l ! T H SH1E 1 3k x o TBT8 ol 3 y T, Tl o8 F& §— 1
(31) (10x +y) (3) (10y + %) () x+y) (2) 10xy

(iv) 4af¢ AABC ~ ADEF & ©d AB = 10 ¥, DE = 8 94 g, &t BC : EF 38— 1
(37) 8:18 () 4:5 (9)9:4 (7)5:4

(v) gafag 0(0,0) 3 fag P (-3, 4) =+t g T— 1
(1) 5 () J7 () 7 () 1

(vi) cosec?45° — cot?45° TR B— 1
() (") 1 (w0 () 22

(Vii) T SEIER TEl A ST, WE i ST o SRIeR ¥, dl gd o1 S1EE vl i— 1
(1) 60° (&) 30° (|) 90° (”) 45°

(vm)%ﬁaP@r@@mwﬁr@ﬁmﬁ 24%6%Pﬁ%@f§ﬁzsﬁﬁ%|§ﬂﬁ
(e1) 7 9 (¥1) 14 94t () 3.5 9Ht (=) 19

(ix) Tk o< ! Fooen 7 it §, W 91 o T w9l 1 Aol 8— 1
(1) 38.5 ¥R (&) 77 9P (4) 154 3P (%) 44 o+

(x) i Tk v ot oo 14 Qe den foedep Seg 10 St 8, < oI o1 ook IS Gohel e— |
(31) 220 9+ (&) 110 g2 (J) 440 92 (%) 140 g2
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(xi) fr=fefea & @ wEA-d e fmdt w2 &t wifasar 781 8 wedt? 1
2 3
(37) g (&) 5 (w) 07 () 0.5
(xii) e g aftig gt & for@ HCF = LCM, o €@l g9e gt afsu— 1
(31) =" (F) "9 (|) 3191y (%) H8aT9H

(xiii) afE Tk fg=ma sgue & ekl 1 AT T TORS SHEY: 59 6 ¢, o 5 ague 8 — 1
(31) x2+5x+6 (F) x2+6x+5 (W) x*-6x+5 (x*-5x+6

(xiv) k % Tore o & fol@ aieo A x +y— 4 = 0, 2x + ky — 3 = 0 1 18 g1 781 2?1
(31) 0 (&) 2 (9) 6 (%) 8

ﬁ{QTI'QﬁHﬁAB=2@rH°r, 4A=50°,AC=4@1ﬁ,DE=3ﬁwﬁ, /D =50°3RDF =6

ot 1 9fe BC = 3 991 8, @ EF o1 519 8— 1
(37) 4.5 94 (F) 6 9wt (@) 8 9ur (%) 599

(xvi) sin2A = 2 sinA T G BT T, Sfelfeh A SRIeX §— 1
(31) 0° () 30° (|) 45° (%) 90°

(xvii) AE cosA = % 7, dl sinA &1 A 8— 1

13 3 3 13

(37) 0 (&) T (w) 03 (%) 5

(xviii) TF =€t w1 o2 =t g3 57 5 e § S W stafa o 3 — 1
(37) 30° (&) 60° () 2% (%) 10°

2. Trefafe we=i (19 vi) 5 e T &1 9fd 3d e IT-giaet § fafan)

(Fill in the blanks in the following questions (i to vi) and write them in the answer-book.)

i) aC18, a 0FARK T H &, W a= v, | 1

(i) femg P(7, -3) & farg Q(3, 9) & weA fag & FRESMFE oovee g1 1

(iii) sin60° cosec60° + c0s30° sec30° AT HT .ooevvverrvennne 2 1

(iv) T 39 STEe o1 =9 14 TE ], O U IH0 IO TR oo 7 1

(v) Se11,4,5,6,4,7,9,2, 4, 3,5 H TEAF ovvrrrens 2

(vi) Waﬁa?a%fmaﬁﬁ%n%wﬁiwﬁaﬁ@mm% a‘rﬁaa“raﬁaﬁm
................ | 1

3. AfqTIT_I&E U9 (i ¥ xii ) [Very Short Answer Type Questions (i to xii)].
(i) A Tk o i e 14 St @ e =1 ot orwers 22 9 7, < S99 g S I ST
SRITT 1A R | 1
(i) 9fE T =9 A1 Tg0l ST AR 8§64 I U T, W $HHR Tk THereh i TSI SRS Wi
hHifSTT | 1
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(iii) =T STCERET e 1 ATEAe 91 i | 1
X 3 5 7 9
f 6 7 5 6

(iv) U ¥ ! TH IR %o T 5 W ISl 3Tk 3T Y YITeRal a0 i | 1
(V) o e S ST S HE T SR SHE S o ¥ | FfE 3 b STEe 66 S HH
B, T SIeT 1 ST 1 IS | 1

(vi) T atiehel = H1EaTeh T hifeTT |
19, 17, 25, 27, 18, 20, 29
(vii) af@E@WSﬁTWWW@ﬁH@Eﬁ%IWW%ﬁwmﬁHGﬁﬁﬁ

mg%|w%ﬁﬁﬁmﬁwaﬁﬁm| 1
(viil) < =1, T B T3k ot ST 2 Tt T, S HowH Teteh! ohl THOTSRY Weh 31 A1 ST STl
B | SEY UTH S I ST F14 IS | 1

(X) W9 9 YT TovH YT HATsT T THR WA T SISy |
(X) @éﬁﬁ6wa7@mﬁ%%|w%ﬁ@f@ﬁtwﬁwﬁaﬁ%lﬁwﬁﬁ

g Sl g B 1 Wi aehal I Hife | 1
(xi) @ Tw ST TR Tk TR SRS 50n W AH T, O IH AN wi e 9@
i | 1
(xi) afg5,7,9,4,3, (x+2) FH GH=R AL 6 T, A x I AH T HIToC | 1

@ue-d (SECTION-B)

m W (Short Answer Type Questions) :

12.

. femgat (5, 3) &R (=3, —2) = T oo Y@rEve x-3184 g foRe erquma o fawfem g 82
10.
11.

e 12, 15 3R 21 1 199 umeed fafy g0 HCF 8k LCM 9Td whifsg |
trﬁ;'%‘amagq'c;k ~5x+ 9% TIF o R P F, A (a0 + P) T off T HIfe |
faetram fafy o1 wam ek, =1 e gt | & 9 9a 5o 91 e 2
3x+5y=7, 6x+ty=-4

NSNS

. TR 46t 7,13, 19, ... , 205 9 Ul Skl G A9 i | 2

B
€ T eTRfa # DE | BC &, @t x %1 94 91d whifeg|

[N NS NV

4 cot?45° — sec?60° + sin260° T A H1d HiTT | ]
12 Hier Tl Uoh TET, Tk e SaR 3 fIeR 7 Jgodt § | 9K 9% €t <eR % e 60
1 IVl ST ©, O <R i SeE ST i |

R_ ¢

{

AT P B
TF 99 & 90T T Fg4s ABCD @it e % | fag sifse fos AB + CD = AD + BC 1 2

)

[\
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ERIEKES]
I F 919 R I F hs W S H0 50° T | 9fE =9 w owng SnoaH @, a‘rwqaﬁ
e 9ma wifew
@US-¥ (SECTION-C)

e - wee (Long Answer Type Questions)—
14, TR 9T 3 FoH 15 96 1 AR 900 FIST, e n S T a =3 +2n ¥ | 3

15.

16.

17.

JAgaT/OR .
T AR 961 | 60 U € | A SHeR WeH UE a9 SAfan g shE: 7 a9 125 €, a‘rmnaﬁ
T T A |
fagstl (4, 0) 3R (0, S)ﬁWWWﬁ4WWﬁﬁmﬁ|ﬁwﬁmﬁ®§aﬁ%
forderion ST RIS

JAgaT/OR
%@A%ﬁ%ﬁ%‘\ﬁﬁﬂﬁiﬁm el AB T 9% 1 oI ¥, fSee o (2, 3)%‘H9ATB%E

e (1, 4)

fog IS foF @ S¥eta oo § o 99 B Sher St O 99 B w9 w ¥, @m‘%@m

g e it 2 3
HIAT/OR
fag =ifS o o fag & o9 = @i T wa9t et ot orrEal SR i | 3
71 SFaRar sied 1 AR F1d i | 3
X 5 6 7 8 9 10 11
f 5 8 9 12 6 6 4
HIAT/OR
9fg f=1 s o1 "re 7 &1, @ P R A A1G Shiteig | 3
X 2 5 P 10
f 5 4 3

@ue-< (SECTION-D)
IRERICIREE] (Essay Type Questions)—

18. < Gemsil & =l w1 ST=R 180 T | ISt W& 1 1 It WA I IS A T | SHI @A F1d

hifsTy |
YA/ OR
QWWWWW,W@'WWW%S%N
1
HiteT T =2sec’ 0
19. fas 1+sm6 1-sin® S
YA/ OR

fag =T fF sin®0 cosd + cos®0 + tand sind = sech

20. T IRERar s 1 AreEeE 9 Sife |
Eill 7-17 |17-27 |27-37 |37-47 |47 -57 |57 -67
AT 22 18 20 12 15 13
J[94T/OR
71 IRl S 1 SgeTsh I TS |
it 2-11 | 11-20| 20-29 | 29 —38 | 38— 47
AT 15 16 17 12 11

4

4

4

N
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TUTA-helT 10

&1
E . &
= fag

1. STRIMUTA hT AR THI—TAF ST AT I STHT FEATS & Toh TOHRS ok &9 |
= (UrEiEd) fohar ST gehar § 991 98 TUMETed STfgdid Sl € | 39 W HIE e e faen fo
AU UEUS TRE o W o1 W T2

2. SO hi STTERT TS T FANT TH S STTAT H HL—

(i) T2 ST § F® Femstl S— /7 , /3 81X /5 o7fs # safera fag & § &
(i) forgt & TS e & SN TUAETS 91 A H H |

3. HEOH AUUddeh —fF=l <t g3 WA & 9ol 9 ¥Hvekisk (Common factor) @l 39
Hest % 7Y, FEd T |

.. HCF = Te=ell ® Ys SHAfTsS S19SY UMEvE &t Herd SISl =1d UM% |

4. I GEIEA < T st # ged S SHAfTS Turet € S o d. BT B |

.. LCM = Tesll § 9wlg Ui ASd UHEUE hi e Sl =1 3 T[O%A |

5. S AR & U, 997 .9, § Aag—<1 TAT % 7.9, T 7.9, 1 oGRS 37 Gensit
% TUFT % e T T |

JAq W (H.CF.) x &4. (L.C.M.)

= Yo\ W& () x fg<dia 9= (b)

KUl |[H.C.F.XL.C.M. = axb|

6. 39 T T hi FEEdl § TT=ifhd awry off foag s aed ¥

. _ _axb .. _ axb

) HCF. = T =37 (i) LCM. = g5
H.C.F.xL.C.M. H.C.F.xL.C.M.

(iii) a = b iv) b = p

7. Tt wferm d@emn, o o g (q # 0) 1 TIHTS THR el Giq gial T qA1 el STE(d
aﬁ%%lmwgwaq%aﬁﬂww@é@wmwﬁ%l
8. TF He S’ Ui Heen wead ¥, At =9 g%mﬁ’ﬂﬁ%@ww%,aﬁp

3R q o 8 81k q = 0 31 S8—./7, |15, 157, %,0.101101110111103@%

9. A% p HIE AW TS ¢ AR p, o> F1 fafem w1 & @ p, a F ot fasnfom s=m, st
a TF HCHE qUIR 7 |
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T
SAE-/2,+/3.4/5.4/6. © TR

10. T IREE H&A SR T STURET H&A 1 AN A1 SRR Tk ST W gt 7 |
11. T AR TRHF T 3R Th STURHT F&AT 1 TUFTHS a1 IRTRS T STIET S

T E—

gyt 1.1

1. Trefefad S ol A9 UHAES &

TUFERA o ©U H e hifTl—
(i) 140 (ii) 156 (iii) 3825
(iv) 5005 (99T Sk ) (v) 7429
TA— () 140 & 9T UHETS
=2x70
=2x2x35
=2x2x5x%x7
=22 x5x7 W
(i) 156 % ST TUAETS
=2 x 78
=2 x2x39
=2x2x3x13
=22 x3 x 13 3W
(iii) 3825 & STHNA TUFETE
3 x 1275
=3 x 3 x 425
3x3x5x%x85
=3 x3x5x5x%x17
=32 x5 x 17
(iv) 5005 % ST9SH TUFETE
=5 x 1001
=5x7 x 143
=5x%x7x 11 x 13 3W
(V) 7429 & I¥RA UGS
= 17 x 437
=17 x 19 x 23 30T
2. Tﬁaﬁé&ﬁﬂﬁiﬁaﬁ

HE&ART & PHAERA = HCF x LCM ¥
(i) 26 3T 91 (i) 510 3T 92
(iii) 336 3T 54 (Y oAF)

TA— (1) 26 3R 91

i &% HCF 3R
LCM FTd ST q9T 38! A= ity foh =

26 F JIVRT OEEUE = 2 x 13

91 &% IURT UHEUE = 7 x 13

26 391 WM LCM =2 x 7 x 13 = 182

qer 26 3R 91 %1 HCF = 13

TAMIT-HCF (26, 91) x LCM (26, 91)

13 x 182

13 x 2 x 91

26 x 91
=T T HEARA H AR

(i) 510 3R 92

510 % T9RE OGS
=2 x 255
=2x3x 285
=2x3x5x17
T 92 F SHH UHETS

=2 x 46
=2 x2x23
=22x23

LCM (510, 92) =22 x 3 x 5 x 17 x 23
= 23460

qe1 HCF (510, 92) = 2

GAMT-HCF (510, 92) x LCM (510, 92)
= 2 x 23460
=2x2°x3x5x17 x23
=2x3x5x17x2%>%x23

510 x 92
=T T HEARA H AR

(iii) 336 R 54

336 % AT UHETE = 2 x 168
=2x2x 84
=2x2x2x42
=2x2x2x2x21
=2x2x2x2x3x7
=2*x3x7

54 F IVRT OEEUE = 2 x 27
=2x3x%x9
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=2x3x%x3x%x3
=2 x33
. HCF (336, 54) =2 x3 =6
LCM=2*x3*x 7
= 3024
HAA-HCF (336, 54)x LCM (336, 54)
= 6 x 3024
=2x3x2"x3x7
=2"x3x7x2x3
= 336 x 54
=T T HEARA H AR
3. AT e fafy grr fFefaiea
quiiehi & HCF 3R LCM FTd &ifag—
(i) 12, 15 3T 21
(wrem. forem aE, 2025; W9 Sk )
(i) 17, 23 3HX 29
(iii) 8, 9 31X 25
TA— () 12, 15 3R 21
12 % SIS PIHETE = 2 x 2 X 3
=22x3
15 % A9 PHETE = 3 x 5
21 % AYRY OGS = 3 x 7
. LCM (12, 15 3R 21)
=22 x3x5x7 =420 W
qem HCF (12, 15 3R 21) = 3 3@
(i) 17, 23 & 29

17 &% 9T POHETE = 1 x 17
23 &% I¥RT UEEUE = | x 23
20 F AT TOFETE = 1 x 29

. LCM (17, 23 3R 29)
17 x 23 x 29
11339 3T
qer HCF (17, 23 3R 29) = 1 W
(iii) 8, 9 &R 25
8 % Y TUHETS
=2x2x2=027>x1
9 T AT OGS
=3x3=03’x1
25 % STHEA TUHETE
=5x5=057x1
L LCM (8,9 & 25) = (2)° x (3)% x (5)?
=8 x9x 25
= 1800 S
qer HCF (8, 9 &R 25) = 1 3W

3

4. HCF (306, 657) = 9 faam &1 LCM

(306, 657) FT@ I (99 & )
TA— FYIHER d&d 306 9 657 T |
Soa=306b=65 IHCF =9 f&r %
B9 wd ¥ T

axb
L.CM. = HCF

306657
h 9
= 34 x 657 = 22338

ed: L.C.M. (306, 657) = 22338 37

5. Sita sifag for o= forelt Wi §& T &
oI, W& 6" 31k 0 UX THIE &1 Hehal & |

g—ur o foest wima e n & fau, o
e N, 6" 3% 0 W FAr Tl ¥ ST 6", 5 W
fawsa gt |

T 6 F THT UHETE 6 = 2 x 3

2. (6)' 3 ST IAETE (6)" = (2 x 3)" BT

AUfq I8 e B W T F 6" F A
TUFEUEl B 5 1 hIE T TG T

<. 6" 1 IS TUFEIVS 5 & &1 Tohal § 37T
& 6" 3Tk Y W TEG TEl T Tehdr ¥ |

6. SEAT HITT feh 7 x 11 x 13 + 13 3T
Tx6x5x4x3x2x1+5 9 &AW
i §?

FA-TTHER 7 x 11 x 13 + 13

. =13 (7 x 11+ 1)

<feh T9 U T Hl TR TOFEUS 13 7

;I8 Th AT S B | YA TIEIER
Tx6x5x4x3x2x1+5
:5(7x6x4x3x2x1+1)

TE UE e ot TH Wy gen § i
TR f T e 5 ¥ e § R SH
T 9= ST %

7. Tt Tet o TEF o <1 3R Teh JATRR
e & 1 3H TS T Teh Sk o o FIET bt
18 THE 0d &, STelfeh gt H kT Ueh wekeh{
T | Ifq sl 12 fiame o € | ae it
AT Teh & I 3T Teh & 909 W =1 qied
HH T & oo ® e ) foren v ag @
9 URIYS T o e 1? (99 & )

FA—T=1 G AR BRE A 1 =R
T H T = 18 fae

e g1 SEt B 1 Teh TR o W e
o = 12 e
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